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\Whlch of the following graphs are permdlc’ Explain why or why not.
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Determine the range, period, equation of the axis, and amplitude of the

function shown.
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Bolt Machine Motion

3. The motion of an automated device for attaching bolts to a household
appliance on an assembly line can be modelled by the graph shown at the left.
a) What is the period of one complete cycle? = \ $ ecand P
b) What is the maximum distance between the device and the appliance? |, ©

¢) What is the range of this function? < Y & .5

d) If the device can run for five complete cycles only before it must be
turned off, determine the domain of the function. ) & % &

e) Determine the equation of the axis.
f) Determine the amplitude.

g) There are several parts to each complete cycle of the graph. Explain what
each part could mean in the context of “attaching the bolt.”
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